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(i) ~ Non-programmable calculator is allow.
(i11) Q. No. 1 is compulsory.
1. (@) @) Union of a set
(1)  Quartite
(zit) ~ Relation

(tv)  Cartesian product

(v) Statistics. 10

(b) Prove with one example and also draw a Venn diagram : 10
AUB=BUA
AnB=BnNA.
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2. Attempt (a) or (b) : 15
(@) () Calculate mean, mode and median for the following data : 8

C-1 f

5—10 17

10—15 28

15—20 61

20—25 38

25—30 11

30—35 19

35—40 31
@) What is diagrammatic representation of data. 7

Or

(b) () What is frequency distribution ? 8
@) Calculate variance : 7

C-1 f

5—10

10—15 3

15—20 10

20—25 9

25—30 8

30—35 7

35—40 4

40—45 2
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3. Attempt (a) or (b) : 15
(@) @) Calculate correlation : 8
X Y
1 4
2 5
3 6
4 7
5 8
6 9
7 10
8 11
9 12
10 13
(3] Write a measure of central tendency. 7
Or
(b) () Calculate quartite for the following data : 7

6, 13, 5, 2, 17, 10, 19, 20, 15, 14, 23.

3
) -8
Gy lim = 8
x—2 X —
lin; ¥ +4x?=3x+12,
4. Attempt (a) or (b) : 15
(@) @) What is input and output devices of a computer ? 7
(iz)  What is OS ? 8
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Or
b) @) What is PowerPoint of a computer ? 7
@) What is computer and write its generations. 8

5. Attempt any three : 15

@) What is mode ?

() What is correlation ?

(iz)  What is CPU ?

@iv) What is Linux ?

) What is Function ?
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